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Instructions to Candidates:

o This paper consists of 50 objective — [ype questiors.

e Answer all questions.
You are required to write the correct answer; A, B, Cor D in the box provided on the

right hand side of each question.

e Do not use pencil.
C=12, H=1, K=39, C1=35.5, 0=16, Mg=24, S=32, Fe=56, Ca= 40, Al=27, Zn=65;

N=1i4; CI=35.5

Molar gas volume ai room teninerature =24.0dn?’
e Molar gas volume s.t.p = 22.4dm.”

o Density of water = 1g/em’

Specific heat capacity of water = 4.2J/Kg
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o, e . . ith we er any conditions.
1) Which one of the following elements will not react with water under any cos S

A} Caicium B) Magnesium

C) Copper D) Zinc [:_1

2) Which one of the following mixtures cannot be separated by fractional distillation?

A) Petrol and diesel C) Water and ethanol !
B) Paraffin and water D) air

3) Which one of the following oxides will react with sodium hydroxide but not nitric

acid?
A} Carbondioxide C) COppef (II) oxide [‘l
B) Zinc oxide D) Lead (II) oxide —'
4) What is the pereentage of oxygen in hydrated iron (I) sulpate FeSQ, » TH,(
A) B_%ZU‘O B) 72;;00 Q) _1_1:_;@_0 5:-(1600 L’
5) Which one of the following salts can form a white precipitate with acidified silver
nitrate?
A Magnesium carbonage C) Magnesium sulpate C
E) Sodiuin chiorids D) Magnesium nitrate L*J

6} Which one of the following occurs when carbon monoxide is passed over heated
Lead (IT) oxide?
A) Reddish- brown solid formed turns yellow on cooling.
B) Reddish — brown solid formed turns grey on cooling, D
C) Yellow solid turns yellow on cooling,
D) Reddish — brown solid turns white on cooling
7) Aluminivm reacts with iron (1) oxide according to the equation:
Fe,05(5) + 2AlGs) > ALOjs(s) + 2Fe(s) E:,

What mass of iron (I1T) oxide is reacted to produce 4.7g of Aluminium oxide?

4.7 X160 oy 94 X4.7 94 X160 160 x4.7
) =——— B)—— C)—— D) —— |
94 160 47 9 .
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8) The atomic number of an clement X is 20. Which one of the following is truc about
the oxide of X 1t dissolves in water (0 ——
A) l'orm a solution that turns blue litmus red.
B) Form a solution that turns red litmus blue.
C) Liberate hydrogen gas.
D) Form a ncutral solution.

9) Which one of the following substances is produced at the cathode when concentrated
sodium chloride is electrolysed using carbon electrodes?
A) Oxygen B) Sodium C) hydrogen D) Chlorine D
10) Which one of the following substences when exposed to the atmosphere for a few
days will turn into a liquid?
A) Sodium carbonate C) Zinc sulphate '
B) Calcium carbonate D) Zinc chloride {:
11) The reaction between concentrated sulphuric acid and sucrose is
A) Oxidation C) Reduction
B) Dchydration D) Ilydration j

12) Which one of the following substances will undergo a chemical change when strongly

heated?
A) Potassium carbonate B) lodine
C) Iron (iII) Chloride D) Copper (IT) Carbonate ‘

13)The volume of hydrogen gas produced by the reaction between zinc and sulphuric

acid can be increased by;
A) Diluting the acid.
B) Using cold acid.

)
C) Crushing the zinc into small pieces. L }

D) Adding more acid as a catalysl.
14) Which one of the following is not a property of propene?
A) It contains at least one double bond.

B) It produces carbondioxide and water when burnt in air.
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() it contains only single bonds.

|

I

. . . A
D) It decolourises bromine water.

5 . 3 s e oart
13)24em’ of 0.2 M sodium hydroxide reacts completely with 25¢m of a dibasic acid of

. . . . « 13 f)
molecular mass 102g. what is the concentration of the acid in grams per litre
24 XG.2 X2 X102
A) —————

24 0.2 X102
i) B)_____
25 2 %25
\ 24 X0.2 X102 25 x0.2 X102
S p) Zx02x102
25 2 x24
16) When 20cm’

of 2M sodium hydroxide was mixed with 20cm’ of 2M hydro-chloric

acid and the mixture well stirred, the temperature of the selution rose to 13°C. what is
the molar heat of neutrallisation of the acid?
/\) 40 x4.2 X13 X1000

20 4.2 x13 X1000
B)
40 40
W 40 X4.2 X13 x40 40 x4.2 X13 X1000 |
L) 1000 D) 20 I
S
17)Which one of the following reactions proceeds very slowly under ordinary
conditions?

A) Magnesium and sulphuric acid.
B} Zinc carbenate and niiric acid.

C) Phosphorous and oxygen.

[3) Iron and water., —‘

18) Which one of the following can be used to detect the gas produced when a mixture of
sulphur and concentrated sulphuric acid is heated?
A) Bromine water

|
C) Ammonia Solution — |
B) Glowing splint

D) Potassium dichromate __J
19) Which one of the following elements is a component of the substance that dissolves in

water forming a solution that turns red litmus blue and a gas that relights a glowing
sphnt?

A) Magnesium C) Sedium

D} Calcium

83) Sulphu
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20) Which one of the following is not an alkali?
A) Magnesium hydroxide

B) Zinc hydroxide

~ N\ . 5 r . = . . . . . . . :
21) Zinc carbonate reacts with dilute nitric acid according to the equation;

C) Sodium hydroxide
D) Calcium hydroxide

ZDCO3 (S) - 2]_INO3 (aq) _'__9 Zn(NO3)2 (aq) + COz (g) + HgO (])

What mass of zinc nitrate is formed when 25cm’® of 0.2M nitric acid reacted

completely with the carbonate?

) 25 x0.Z X189 ) 25 X189
1000 7 2 x0.2 X1000
C) 25 x0.2 x18¢9 2 X25x0.2 x189
2 %1000 ) 1000

]

]

22) When hydrogen gas was passed over 16.2g of an oxide of a metal M, 13.0g of metal

M was formed. What is the formula of the sulphate of M?
(M=650=16)
A) M;(SO,) B) M,(SO,); C) MSO,

23)Hydrogen gas burns in oxygen to form water according to the equation;

2H;4, Oy —_— 2H,0,

D) M,S0,

]

What volume of gas remains unreacted if 20cm’ of hydrogen and 60cm’® of oxygen

are allowed to react?

A) 80cm® B) 40cm’ C)30cm’

D) 50 em®

]

24) After boiling some water, a lot of soap is required to form lather. Which one of the

following substances may be present in the water?
A) Magnesium hydrogen carbonate

B) Calcium carbonate

C) Sodium carbonate

D) Calcium sulphate

L

25)Which one of the following is not a role of soda ash during water treatment?

A) Removal of sediments or suspended particles in water.

B) Removal of hardness in water
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he water ‘

xide is used to dry

C) Adjusting the PH of t
D) Softening water

26)Which one of these statements is the reason why calcium O

ammonia gas? It 18 ——
A) Basic and dehydrating agent
B) Basic and hygroscopic
C) Both basic and reactive : [:]
D) Basic and soluble in water
is passed over

27)Which one of the following is observed when hydrogen chloride gas

heated iron fillings?

A) A green solid C) A reddish- brown solid.
D) A grey solid [:I

B) A.white solid

28) The following gascs are major atmospheric pollutants except
A) Carbonmonoxide C) carbondioxide
D) Nitrogendioxide

B) Sulphurdioxide
29)Atoms of elements X and Y are represented as 33X and 40y in the periodic table.

Which one of the following statements is true about elements X and Y?
A) They have the same number of electrons in the outer most energy levels.
B) They have the same number of neutrons in the nucleus.

C) They have the same physical properties j

D) They have the same atomic mass

30)The mass of 96¢m’ of a gaseous hydro- carbon Z at room temperature is 0.224g¢.
What is the molecular formular of the hydrocarbon if it contains 85.7% carbon?
A) C_;Hg B) C:;H]_O C) C}Hs D) C4H6

31) Which cne of the following substances can be used as a bleaching agent in the textile

industry?
A) Chlorine C) Sulphurdioxide
B) Sulphurous acid D) Hydrogen chloride
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32) Which one of the following ig produce

Presence of platinyy catal
A) Nitrogen

d when ammonia is reacted with OXygen in the
yst?

D) Nitrogen (IV) oxide
B) Nitrogen (I) oxide C) Nitrogen (II) oxide l ___I
33) Ethanol burns In oXygen according to the equation;

gHsOHm T 302(3) —_ 2C02(g)+ 3H20(|)

AH =-1370.0 KJmol"
If 0.115g of ethano] Is required to rajse the temperature of xg of water by 22.5%.
what is the valye of x?

46 x1370 x103
A)

C 0.115 X46 x4.2
0.115 x4.2 x22.5 ) 1370 x 103 x4.2
B) 0.115 x4.2 3725 D) 0.115 X1370 x 103 l
——Terees —_ g x 10"
1370 x 103 46 4.2 x22.5

ammonia at room temperature?
A) 0.11g of chlorine
B) 7.0g of carbondioxide
35)Which of the fo

C)0.5g of nitrogen (11) oxide

D) 0.5g of nitrogen (D) oxide

ilowing nitrates when heated will give only gaseous products?
A) Silver nitrate

B) Copper (II) nitrate

C) Potassium nitrate

L
D) Zinc nitrate

36) Which one of the following is the mass of hydroxide ions in 200cm? of 0.5M calcium
hydroxide?

A) 1.7g B) 3.4¢ C) 1700¢ D) 85.0¢g D

37) Which one of the following substances dissolve in water to form a solution whose

PH
is less than seven?
A) Ethanol
B) Ammonium sulphate
C) Sodium sulphate D
D) Potz" um chloride
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38) Which one of the following gases diffuses fastest when each gas is placed in a gas of
the same size?

A) Chlorine C)H ., en chloride D
B) Ammonia D) Carbondioxide

39)Metals M, N, and T have the following properties;

i) M displaces T from solutions of its ions

i1) T reacts with dilute hydrochloric acid tg liberate hydrogen gas.

iii) N does not react with acids under any conditions.

The order of reactivity of the metals beginning with the least reactive is

A)M, T,N B) M,N,T

B) N, T.M D) N,M,T D

40) Which of the following is the best explanation for increasing the concentration of
reactants in a chemical reaction?

A) Increase the kinetic energy of the reactant particles.

B) Increase the chance of collision of the reactant particles.

C) Increase the amount of reactants

D) Increase the area of contact between the reactant particles

Each of the questions 41 -45 consist of an assertion (statement) on the left hand side

and a reason on the right hand side.

Select;

A) If both the assertion and reason are true statements and reason is a correct explanation
of the assertion.

B) If both the assertion and reason are true statements but the reason is not a correct
explanation of the assertion.

C) If the assertion is true but the reason is not a correct statement

D) If the assertion is not correct but the reason is correct but the reason is a correct

statement.
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Instruction_s,mmmarised
— e w, ——— '7_ S —_— L—_‘
| Assertion

_ Revson
l. A | Prue ] True (Reason 1s a correct
I‘:_ - '{ explanation)

‘ B ' True | True (Reason is ot 4 |
| '! cotrect explanation)

E C —hﬁ True - Incorrect

I

|I D \ True | Correct |
I |

41)When chlorine gas is passed through potassium iodide solution, a black solid is
deposited.

B

ecause chlorine is a very strong reducing agent
42) Both graphite and diamond are allotropes.

Because they have the same physical and chemical properties.

:
43)Molten calcium chioride is used during the extraction of sodium

Because calcium chloride lowers the melting point

of molten sodium
chloride

44)Magresium burns in nitrogen to form a white solid.

Because Nitrogen has a triple bond

45)When dilute sulphuric acid is added on to calcium powder, in a beaker, very little
effervescence occurs

Because the coating formed on the metai provides a large surface area of
contact with the acid.

L
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Ine
1 question- carefully and then I

Read eacl

following:
A)Ifi,2and 3 only are correct

B) If 1 and 3 only are correct

C) If 2 and 4 only are correct
|
|

D) If 4 only is correct.

Summary of instructions

—
\
e
1,2.3 2:4 /
|
| Only correct Only correct Only correct ,
\ R N — B
46) Which one of the following compounds when reacted with both sodium hydroxide
and ammonia solutions will form precipitates that are insoluble in excess alkali

1. Magnesium sulphate
2. Calcium chloride
3. Tron (IT) Sulphate D

4, Zinc sulphate
47)Which of the following is / are the products formed when ammonium nitrate is

heated? ,
3) water D

1) Dinitrogen oxide
4) Nitrogendioxide

2) Nitrogen monoxide
48) Which one of the following is / are the reason(s) why using steel is preffered to iron?

1) Itis resistant to rusting
2) More attractive
3) More durable

4) Good conductor of electricity
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49)Which one 0f the following salts is / are prepared by precipitation”
1) Silver chloride

2} Calcium chloride

%) Barium, chioride
50)Reduction is a

reaction in which;

1) Electrons are added 10 a substance
2) Oxvegen is removed from a substance
3) Hydrogen is added to a substance

4) Hydrogen is removed from a substance

***END***

_ .
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